Ho mework 7-5 /76
/) Xixz 22 since both X and 32 are Powers

g o 2, we do not have fo use 56099
£ §=22 32=2
>
(2*) =2°
6x s | 2) 3343 23T
26><‘:52 "= 3
:i n=7>
h | L
2 _ 2 2n+| _
2) 97=22 17 3, 4) 2577 625
(3)7=3" 2577 = 257
=3 2n+{ =2

2 ((2x+)= 3 3N =(, >(=K<o%20
6 6 >(:2_ 2
2 —2,><-H> =3 | -‘26{(9 6/3
—UN ¥ = Me"th 2
— —% %?zx; (0920
= 2% éogb’:éog?/o










) B, @ AP
Gy 17002 = o2 W
/.
y:glloolooo
b) A = 9,000,000 =
9, veerece- = 819975 (o
: @2 _ igr_(/ 02)
e
bt log)9>
,,g-—:—— 503// o2

3 o
_ PR 022
;éw%w 54“% e e




22) —-ﬁ'zx; 1
- 52 | 23)-p Hnox =
0 3 + s
A{_&/zx | bn 2= 1]
40#5’ " 2%
%ﬁ(—— 0.8 €5
e | Y
M) -l (&x+D) :J%_ 25) nx +Lnzx =19
~ 2 ot
M%}( = |d ??ﬁ?}

b p (§%F+) =T Z >
L e = X
- ¥

IX+ :"‘j 7
[ (8x#) = _ X

€
- 7/61 -”5" — g
= g X + \ i
._6‘ ’/ X ZZE




23) Inx+lny=2
Ln Yx =2

I
s
)

h

V)

1)

L/
X

2 X

I
O)
,



